Time-dependent behavior of the model variables for the default parameter
values with ART. The results are for the total number of susceptible individuals, S(%),
total number of untreated infected individuals, I(t), total number of treated individuals,
A(t), total population size, N(t), and population sizes of the lowest, N;(t), and highest,
Ng(t), risk groups. The annual treatment uptake percentage, 7, is 80% and the rest of

parameter values are as in S1 Table.

proportionate (w=1)

intermediate (w=0.5)

g5 3300007 & 3300007
ﬁ 329000} ﬁ 329000}
,é 328000 1 — 0%=635 é 328000" I — 0?=635
—_ 2 —_ 2
3 327000f | —o"=326 3 337000t 1 — o2=326
Q 2_ Q 2_
© 326000} 1 — =64 & 36000 j —o=64
=] 2_ o 2_
B 325000 — =18 = 35000/ — =18
o] ?
@ 324000 : : : : : # 324000 : : ‘ ‘ :
0 100 200 300 400 500 0 100 200 300 400 500
time (year) time (year)
assortative (w=0.01)

5 330000F ;

‘j;:j 329000}

S 328000¢ i — o?=635

B >

g 327000 ] —o=326

2_

@ 326000} ] —o'=64

= 2_

8 325000 — o =18

3

@ 324000t

0 100 200 300 400 500
time (year)



untreated population size, I(t)

treated population size, A(t)

proportionate (w=1) intermediate (w=0.5)

700 ‘ ; 700
600F ] = 600; ]
S
500F ‘w 500f E
02=63.5 S 02=63.5
400¢ — 2=326 § 400} 1 — 2=326
[ ] o [ ]
300 — 0?=6.4 gwj — 0%=6.4
2008 — o?=1.8 % 2008 i —o*=18
100 ] = 100} ]
c
>
Ok ‘ ‘ ‘ ‘ ; OH! ‘ ‘ ‘ : :
0 100 200 300 400 500 0 100 200 300 400 500
time (year) time (year)
assortative (w=0.01)
700
= 600 ]
g
g S00¢ ] 72=63.5
i 400¢ — 02=326
Qo L
g 300 — 0°=6.4
% 2001 i —o?=18
5 100f 1
c
=)
Ok : ; ; ‘
0 100 200 300 400 500
time (year)
proportionate (w=1) intermediate (w=0.5)
3500 ‘ ‘ ‘ ‘ 3500 ‘ :
3000¢ < 3000 :
()
2500¢ 02=63.5 E 2500 ] 02=63.5
2000} — o236 S 0 1 —o?=326
1500} 264 § 1500 1 24
1000F 1 2 1000} g
— =18 3 — 0?=18
500& ] § 500 ]
ot : ~ ol
0 100 200 300 400 500 0 100 200 300 400 500
time (year) time (year)
assortative (w=0.01)
3500 ‘ :
< 3000 ]
[6)
E 2500 02=63.5
g 2000 — 0?=326
S 1500F ]
§ — 0?=6.4
S 1000}
3 — 0?=18
§ 500f ]
SN

0 100 200 300 400 500
time (year)



population size of lowest risk group, Ni(t)

population size of highest risk group, Ne(t)
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total population size, N(t)
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